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3. o FolAl 5.1 T A7 B2 A

i

DT T2AQ,

®s50 @510 @500 @510 © 501

a4 okl 2 AHele] 0.2 AR 4 gt
444 ofd) 2 AHele] 0 2 Aefste] Lrehiw

@513 5.01® 5.194t}.




O = ol 4.09 2ot 241 4,54 B} 212 = B B | dU7?

4.62,4.51,4.25,4.8,4.3,4.07

@ 571 @ 47 @3711 @ 27Y ® 171

&g AR A2 et A4 B ] o] 22 v W EY
4.09HTH 21 454 Brh 22 X 451,425,432 379Ut




@ 6.540,6.543 @ 6.541,6.544 ® 6.542,6.545

@6.543, 6.545 ® 6.544,6.546

& 20} Ant4 Afol7} =] Am B,
— 0.0014 #AA 2 QlF YTt
AR [ ] = 6542+ 0.001 = 6.543

=R [ ] = 6544+ 0.001 = 6.545




6. &40 WAL HpA AN AL D2AL.

(1) 0.7-02 (2)0.6-0.1

@ (1)09(207 @ (1)09(2)05 @ (1)0.5(2)0.7
@m o505 © (1)05(2)02

(1) 0.7-02=05
(2) 0.6-0.1=0.5




D (1) 6.74 (2) 3.30 @ (1) 674 (2) 3.300

® (1) 6.74 (2)3.3 @ (1)6.074 (2) 3.03

O

®)(1) 6.074 (2) 3.3

B

74 74
1) 6——— =6+ ——— = 6+ 0.074 = 6.074
(1) 67550 =6+ 1000 =6 *

2330 3430 34 030-330=33

100 100




(1) 256m = ]km
(2) 9056m = _]km

@ (1) 2560 (2) 9.056 @ (1) 2560 (2) 90560
@(1) 0.256 (2) 9.056 @ (1) 0.256 (2) 90560
® (1) 2.56 (2) 9.056

(1) 1000m = 1km
256 m = 0.256 km
(2) 9056 m = 9.056 km
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@ 0.70+0.29 @)0.39 +0.62 ® 0.62+0.37

@ 0.51+40.48 ® 0.54+ 045

@D 0.70 +0.29 = 0.99 @ 0.39 4 0.62 = 1.01
® 0.62+0.37=0.99 @ 0.51 + 0.48 = 0.99
® 0.54 + 0.45 = 0.99
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54cm—|—2.3m=\:|m

> E
> ®EH: 284
54cm = 0.54m

0.54m + 2.3m = 2.84(m)




11.

16.78 -8.093 - 278 = |-278 =] |

@® 8.694, 5.917 @8.687, 5.907 ® 8.697, 5.927

@ 8.687, 5.909 ® 8.685, 5.917

16.78 — 8.093 — 2.78 = 8.687 — 2.78 = 5.907




12. HEE @A 3.276kg, S5l 6.73kg ERFUT S

6.73 — 3.276 = 3.454(kg)




13. dva& veA At AS 2L,

(1) 7.81 +2.89 -2.31 (2) 3.33+11.32-8.73
@ (1) 8.29 (2) 5.82 @ (1) 8.29 (2) 5.92
® (1) 8.38 (2) 5.82 @ (1) 8.39 (2) 5.82

@ (1) .39 (2) 5.92

(1) 7.81 4+ 2.89 — 2.31 = 10.7 — 2.31 = 8.39
(2) 3.334+11.32 -8.73 = 14.65 — 8.73 = 5.92




14. %59 2718 vlaste] O 9ol >, =, <& LA AP OA

0.49+0.8500.3 +0.96

\VARR 4
0x
i
v

0.49 + 0.85 = 1.34, 0.3+ 0.96 = 1.26 °|2&
webA] 0.49 + 0.85 > 0.3 + 0.96




15. 1 Hep 242 a5 A A2 £ T 7P 2 $HH0.02 A2 S 4t
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| BT AR 4% A A2 4 F 74 2 4 0,999 YU
0.999 B} 0.02 F-L S 44 B4 2e] £27h 2 AL Soln
2 0.979 ¥yt




16. =272 [3][5][7][1]][ ] g At M A Bt 5 g 5 FollA
a

AR Mo 2 25 Al A 42 BEA.

> =
> =g 7351

Al #4241 7.531
A Al & 41 7.513
A4 A A 4= 1 7.351




17. [ ool Bolz ggre a5 ghe FoHAl L.

4 2 [150]
+ [. 816
[11.62
> £
> = 30
42 @A5H
E1.62

L4+6=10,L =4
-t = =1 = =0
1+7714+8=16, 1=7
1+24Tc =11, =8
l1+4=1, 1 =5

42 [@5[4
+ [8l. 8[616

BI1. 62

whebA [ ]te]l Eoi eatE ] g2 300]th




0.31

a4 Al A2 4)=0.137
2 22 24 Al A9 )= 0173
=0.137 4+ 0.173 = 0.31




19. the 276 T St BE g AU
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o 25 AR ] 2y,
e 109] ZFe] 271 2

o 19 72] 3771 3

« 0.19) 22 5476

© 0019 2] 5747} 5

© 0.001 8] 7] 577} 6 Bk Fueh,

=i 7h
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10 9] 242} =247k 2041 1.9] A4 2247 3

0.19] ZH] %247k 6013 0.01 27| S:247F 50102 23,65 |
Ayt

opx|ere 2 0.001 9] A4 e] &2t 6 ey AR

23.657, 23.658, 23.659 = 3714t




20.

175L &2 25 0] 9] dH5UH. ol &
AFgSlEEY 7 & o= 56L 7 EEULE AL BEEOl AR
E2o W [ QA F5HA L.

> &

[

> &l 11.2L

B ,

1& — 800mL

7H — 800 x 7 = 5600( mL)

5600mL = 5.6 L

AL &5 UNH £ F:5.6+5.6 =11.2(L)




